Nest Swing Set

FOR CHILDREN AGED 3 TO 10 YEARS

Safety Guidelines

Warnings:

For domestic outdoor use only, maximum 3 children, total weight not to
exceed 440Ib.

Not for children under 3 years due to small parts that may cause choking
hazards.

Assembly and maintenance must be done by an adult, with regular
checks for wear and damage.

Product must be placed on a level surface at least 2 meters away from
any obstruction and anchored firmly into the ground.

SOBNS JRNCRNS

Eco-friendly Multiple ways Safe Develop
material to play and stable MotorSkills

Please read this manual carefully before use. Note: Please save it for future reference.

Usage Warnings:

Children should not wear cycle helmets while on equipment.

Do not allow children to stand on any swing seats, glider seats, or slide chutes.
Do not allow children to jump or climb off any moving equipment.

Do not twist swing ropes or wrap them over the top bar.

Do not allow loose, hooded, or baggy clothes to be worn.

Do not allow children to climb on parts not intended for this purpose.

Do not allow children to wander into the play area while equipment is in use.
Gliders and swings must not exceed an angle of 60 degrees from the ground.

The minimum clearance between the swing seat and ground level should be 350mm.

Assembly and Maintenance:

Check nuts, bolts, and fittings for tightness.

Check coverings for bolts and sharp edges and replace as necessary.

Check swing seats, chains, ropes, and other attachments for deterioration and
replace as necessary.

Manufacturer recommends replacing plastic swing rope clamps every 2 years.
Leave fittings finger tight until assembly is complete, then tighten firmly.

Customer Service:

Keep instructions in a safe place for future reference.

Contact customer service for any problems.

Inspect all parts of the product every 6 months following purchase.

If any parts look worn or there are problems, contact us for replacements and do not
use the product until the problem has been corrected.

Product acessories

®ﬁ——

TOP BAR 1 (X1)

@

—

TOP BAR 2(X1)

e e R
TOP LEG(X4) BOTTOM LEG(X4)

® ® @

IRON SHEETS (x2)

GROUND PEG(X4)

oL v a
/-==\_’/ ¢

NEST SWING METAL FRAME
WITH FOAM PADDING (X4)

F2

F3

SIDE STAY BAR(X2)

FABRIC NEST SWING

SWING SEAT EYE SCREWS (X4) M8 BOLT 59mm (x4) CARABINER HOOK (x4)
F4 F5 F6 F7 g
———y NPV SPANNER(X1)
s o F8 —/ T“
M6 BOLT 63mm (x4) M6 BOLT 73MM (X4) M8 BOLT 65mm (x4) ‘

ALLEN KEY (X2)

IMPORTANT: Make sure you read the safety notice on the front page and always
supervise children while they are playing on the equipment. Once assembly is completed
carefully check equipment. In the unlikely event that you do find any problems, please
contact us. Do not allow children to use this product until the problem has been corrected.

Assembly Instructions

STEP 1

Assemble as illustrated above.

Connect Top Bar 1 and 2 together with four bolts F6 and two iron sheets (7) .

F1 Eye screws are attached on the top bars.
Hang F3 Carabiner hooks on F1.

7))

STEP 2

Assemble as illustrated above.
Attach Top Legs(3)to Top Bar 1 2,secure
using four bolts F2.

STEP 3

Assemble as illustrated above.

Attach Bottom Legs(4)to Top Legs(3).

Attach Side Stay Bars (5)to outside of the legs,
and secure them by using bolt F4.

4

Assembly Instructions

STEP 4

Insert the metal frame(9)into the edge of the fabric around the edge of the nest swing (10).

Connect the meta frames together and then fasten them using the bolt at the end of the
rope (8).

STEP 5 STEP 6

Assemble as illustrated above.
Fasten them using the bolt at
the end of the Swing Seat.

Assemble as illustrated above.

Attach Ground Peg(6)to Bottom Legs(4),secure
using four bolts F5.

Anchoring the gym to the ground.

Assembly Instructions

IMPORTANT NOTE: For safety reasons, this swing is best inserted and anchored into
grass for added st ability.If it is a concrete floor, it is recommended that you add
counterweights such as sandbags on both sides of the swing. If you have questions about
this procedure, please feel free to contact us. support@amictoy.com




	页 1

